
Honors Problem 1 : Square Game. Two players A and B play the

following game. Starting with a stack of rows of squares (⇤), they take turns

with player A first in removing squares. In each turn the player

• identifies one row with at least one ⇤

• remove any number of ⇤ from that row (all if so desired), but do not

remove them from any other row.

The player who removes the last square wins.

Here are 5 boards to play with a friend. At each one, would you like to to

be player A or player B?
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Is there a general strategy? How does the strategy/winner depend on initial

configuration of the squares? If you work on this problem, write up the expla-

nation/solution for the general case (any board); 1 page max.
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